
PANEL ASSEMBLY, CONTROL 10/4/2012

D
W

G
 IT

E
M

 N
U

M
B

E
R

Q
T

Y
 P

E
R

 A
S

S
Y

U
O

M
MANUFACTURER PRIMARY PART # T

A
G

 N
A

M
E

DESCRIPTION MATERIAL
1 1 EA AUSTIN 48228SLLmod ENCLOSURE, NEMA4, 48 X 22 X 8 STEEL
2 1 EA AUSTIN 4822TPmod revB SUBPANEL, 45" X 19" STEEL
3 6 FT PANDUIT F2X3LG6-A WIRING DUCT, 2 X 3, NARROW FINGER, ADHESIVE BACKED PVC
4 6 FT PANDUIT C2LG6 COVER, WIRING DUCT, 2" PVC
5 6 FT PANDUIT F1X4LG6-A WIRING DUCT, 1 X 4, NARROW FINGER, ADHESIVE BACKED PVC
6 6 FT PANDUIT F1X3LG6-A WIRING DUCT, 1 X 3, NARROW FINGER, ADHESIVE BACKED PVC
7 16 FT PANDUIT C1LG6 COVER, WIRING DUCT, 1" PVC
8 3 FT ALTECH 2511120/1M DIN RAIL, 35 X 7.5 mm STEEL
9 15 EA MCMASTER 95345A566 SCREW, #10-32 X 1/2" LG, W/EXT TOOTH LOCK WASHER 18-8 SS
10 4 EA MCMASTER 96278A411 NUT, #10-32, W/TOOTH LOCK WASHER 18-8 SS
11 1 EA ALLEN BRADLEY 1769-L30ER PLC-921 CPU, 1M FLASH MEMORY, DUAL ETERNET
12 1 EA ALLEN BRADLEY 1769-PA2 PWS-921 POWER SUPPLY, 85-132 V OR 170 - 265 V AC, 5VDC@2A OUT
13 2 EA ALLEN BRADLEY 1769-IF16C AI-921 MODULE, ANALOG IN, 4-20 mA, 16 CH
14 1 EA ALLEN BRADLEY 1769-IQ16 DI-921 MODULE, DISCRETE INPUT, 16 CH, 10-32VDC
15 2 EA ALLEN BRADLEY 1769-OB16P DO-921 MODULE, DISCRETE OUT, 10-31 VDC, ELEC FUSE, 16 CH
16 1 EA ALLEN BRADLEY 1769-ECR RIGHT END CAP/TERMINATOR
17 1 EA ALLEN BRADLEY 800H-FRXT6D2P ESD-901 SWITCH, E-STOP, SEALED CONTACT, NC, TWIST RELEASE, RED, CLASS 1 DIV 2
18 1 EA ALLEN BRADLEY 800T-X646EM LEGEND, ESTOP, YELLOW RING, 30mm
19 1 EA ALLEN BRADLEY 800H-HR2D1P HS-921 SWITCH, LEVER, SEALED CONTACT, NO, CLASS 1 DIV 2
20 1 EA MCMASTER 65575K96 (OFF LIGHTS ON) LEGEND, OFF LIGHTS ON, 30 MM PUSHBUTTON
21 1 EA BEIJER QTERM-A7/3654R HMI-921 OPERATOR INTERFACE, COLOR TFT LCD, 7INCH, 24VDC, -30 TO 70 DEGC
22 1 EA SIXNET SLX-5ES-2SC SW-921 ETHERNET SWITCH, UNMANAGED, 4 RJ45, 1 FIBER, 24VDC, 5W
23 DELETED
24 1 EA IDEC PS5R-SD24 PWS-922 POWER SUPPLY, 120 VAC IN, 24 VDC OUT, 2.5A, 60 WATTS, DIN
25 PSB EA COSA XR66085 AT-316 TRANSMITTER, DEWPOINT, -148 to 68 DEGF, 4-20mA, DIV 2, w/CABLES
26 4 EA MCMASTER 95345A468 SCREW, #6-32 X 3/8" LG, W/EXT TOOTH LOCK WASHER 18-8 SS
27 DELETED
28 DELETED
29 DELETED
30 DELETED
31 DELETED
32 2 EA ISC EHCREX020100-120 H-921, H-922 HEATER, 100W, 120VAC, CLASS I ZONE 2
33 1 EA ISC 01180.0-00 TS-921 THERMOSTAT, ON <52F, OFF >59F, CLASS I ZONE 2
34 1 EA SQUARE D PK12GTA GROUND BAR KIT, 12 TERMINAL
35 1 EA 97527A011 WASHER, INT/EXT TOOTH, 3/8"
36 1 EA ROYAL OAK MG109-11920-20 LABEL, "CONTROL PANEL"
37 1 EA ROYAL OAK MG109-11920-25 LABELS, COMPONENT, CONTROL PANEL
38 1 EA ROYAL OAK MG109-11920-30 LABEL, FUSE TABLE, CONTROL  PANEL
39 1 EA ROYAL OAK MG109-11920-35 NAMEPLATE, ELECTRICAL, CONTROL PANEL
40 1 EA SETON M8130 5" X 3-1/2" LABEL, DANGER, 120 VOLTS
41 1 EA CLARION H6010-61WHBJ LABEL, HAZ VOLT, REMOTE DISCONNECT
42 9 EA CLARION IEC5019a-PE LABEL, GROUND SYMBOL, 0.375"SQUARE
43 DELETED
44 1 EA  HOFFMAN AS100 PLUG, HOLE IN SHEET, 1" CONDUIT, NEMA 4

Page 1 of 3 MG109-11920 REVF ASSY CONTROL PNL BOM 100412.xls



PANEL ASSEMBLY, CONTROL 10/4/2012

D
W

G
 IT

E
M

 N
U

M
B

E
R

Q
T

Y
 P

E
R

 A
S

S
Y

U
O

M
MANUFACTURER PRIMARY PART # T

A
G

 N
A

M
E

DESCRIPTION MATERIAL
45 2 EA ALTECH CTS2.5U-N TERMINAL BLOCK, 5mm, 22-14 AWG
46 DELETED
47 DELETED
48 1 EA ALTECH CGT4U TERMINAL BLOCK, GROUND, 22-10 AWG
49 1 EA ALTECH PP2.5/4UN SEPARATOR, TERMINAL BLOCK
50 4 EA ALTECH CA702 END CLAMP, DIN RAIL
51 4 FT PANDUIT F1X4LG6 WIRING DUCT, 1 X 4, NARROW FINGER PVC
52 DELETED
53 DELETED
54 DELETED
55 DELETED
56 DELETED
57 DELETED
58 DELETED
59 DELETED
60 DELETED
61 DELETED
62 DELETED
63 DELETED
64 DELETED
65 DELETED
66 DELETED
67 DELETED
68 DELETED
69 DELETED
70 DELETED
71 DELETED
72 DELETED
73 DELETED
74 DELETED
75 DELETED
76 DELETED
77 DELETED
78 DELETED
79 DELETED
80 DELETED
81 DELETED
82 DELETED
83 DELETED
84 DELETED
85 DELETED
86 DELETED
87 DELETED
88 DELETED

Page 2 of 3 MG109-11920 REVF ASSY CONTROL PNL BOM 100412.xls



PANEL ASSEMBLY, CONTROL 10/4/2012

D
W

G
 IT

E
M

 N
U

M
B

E
R

Q
T

Y
 P

E
R

 A
S

S
Y

U
O

M
MANUFACTURER PRIMARY PART # T

A
G

 N
A

M
E

DESCRIPTION MATERIAL
89 1 SET ALTECH MT5/V-1-10 MARKING TAG, TERMINAL BLOCK, 1-10, VERTICAL
90 DELETED
91 DELETED
92 DELETED
93 DELETED
94 DELETED
95 DELETED
96 DELETED
97 DELETED
98 DELETED
99 DELETED
100 AR EA MCMASTER 7130K53 CABLE TIE, 5.5", UV RESIS NYLON
101 AR EA MCMASTER SGABM25-AT-CL MOUNT, CABLE TIE, 1" X 1", ADHESIVE BACKED NYLON
102 6 FT PANDUIT SW43 BK005 SPIRAL WRAP, 1/2", BLACK POLYETH NYLON
103 9 EA APPLETON STB-38 CONNECTOR, STRAIGHT, LIQUID TIGHT, 3/8"
104 DELETED
105 0.1 FT PANDUIT P32W2R15072 TAPE, ADHESIVE, DOUBLE-SIDED
106 DELETED
107 DELETED
108 1 EA EATON M22-RJ45-SA CONNECTOR, BULKHEAD, ETHERNET RJ45
109 3 EA MCMASTER 9953K24 CABLE, PATCH, CAT 5E, 5' LG, BLK
110 DELETED
111 DELETED
112 AR FT ALPHA SW41 SPIRAL WRAP, 1/4", BLACK POLYETHYLENE
113 DELETED
114 DELETED
115 4 EA MCMASTER 91847A029 NUT, THIN HEX, 1/4-20, SS 18-8 SS 18-8
116 2 EA CFC LWIS025 WASHER, LOCK, INTERNAL TOOTH, 1/4" SS 18-8
117 2 EA  HOFFMAN AS050 PLUG, HOLE IN SHEET, 1/2" CONDUIT, NEMA 4
118 1 EA ACCUFORM LELC912VSP LABEL, EMERGENCY SHUTOFF, 3.5" X 5"
119 1 EA BEIJER N05-458 PROTECTOR, TOUCH SCREEN
120 1 EA GUILD MG109-11920-40 DIN RAIL ASSEMBLY, LEFT SIDE
121 1 EA GUILD MG109-11920-45 DIN RAIL ASSEMBLY, RIGHT SIDE

Page 3 of 3 MG109-11920 REVF ASSY CONTROL PNL BOM 100412.xls



CONTROL PANEL

5750 Shier-Rings Road
Dublin, OH 43016 USA
(614)798-8215

P/N: MG109-11910

CONTROL
PANEL

ELECTRICAL
Area Classification: Class I, Div 2, Group D (Methane)
Temp Code: T4  ( -18°C (0°F) < Ta < 50°C (122°F) )
Voltage: 120 VAC
Current: 14.5 Amps
Frequency: 60 Hz
Phase: 1
See Also: Electrical Schematic
                      (Dwg MG109-00900)






